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,� QXRYL� SDUDPHWUL� GL� FXL� DO� '�0� ��� OXJOLR� ������ Q�� ���� VL� DSSOLFDQR� RJQL� TXDO� YROWD� OD�

OLTXLGD]LRQH�JLXGL]LDOH�LQWHUYHQJD�LQ�XQ�PRPHQWR�VXFFHVVLYR�DOOD�GDWD�GL�HQWUDWD�LQ�YLJRUH�

GHO�GHFUHWR�H�VL� ULIHULVFD�DO�FRPSHQVR�VSHWWDQWH�DG�XQ�SURIHVVLRQLVWD�FKH��D�TXHOOD�GDWD��

QRQ� DEELD� DQFRUD� FRPSOHWDWR� OD� SURSULD� SUHVWD]LRQH� SURIHVVLRQDOH�� DQFRUFKp� WDOH�

SUHVWD]LRQH� DEELD� DYXWR� LQL]LR� H� VL� VLD� LQ� SDUWH� VYROWD� LQ� HSRFD� SUHFHGHQWH�� TXDQGR�

DQFRUD�HUDQR� LQ� YLJRUH� OH� WDULIIH� SURIHVVLRQDOL� DEURJDWH�GDOO·DUW�� ��'�/� ���JHQQDLR�� Q�� ���

FRQY��LQ�/� ���PDU]R�������Q�����


